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4.

Kp i Qeil HRNoll 2viriell sila ulsatonl oildoil dcisslell du8l Sdl dAd s ?
(i) vl uFan yAwdl Rai 210 ad 8.

(i) 2wl ulSan ulaawil E2uxi 210 dd B,

(iii) 20vuil ulSan adl o2l

K, M QAL el avnel o uEa-l 1A salaa dessisi-l »uoudl ad as 8.

M 4 Q, < K, din dl yaowl ulsa (dlue dzel ulba) suom anil.

(i) A Q, > K, elu dl ulwvusl ubu »ed -llus azeell UBHS drs 2u20 qual,

(i) A Q, = K, <ld dl [(Ham 2dart 2ael Hd s2dl.

a-212[GR1Roll Ricgiicioll JMER dMIcl V1A EGiIRIoli ylal 3dl da ciedl asia 3 Fedl oldon wilseni
NHgoi ag wier dadl eisi ? Ny + 3Hyq = 2NHgy) AH = - 92.38 k] mol™!
21 aHlszadl AH = (<) 9. 2l uBu Gwiaus 9.

Ml 2z 0 d-R2(@uzeAl Reid amE Al a1 ay g5 8. sed e s ulEadl
ay «Aluxr Aadl asiy . uig wAdBls da ag) 1 s uEaL eM asl sto9.

a2fl wioy uRRAR wuag diuMid (700 K) ay sis50 @ % diudid dgad Ral waqel qadl asy o.

golel A2 0 200 aiiasl wed Gl soum asusadll fluwd ag wus Hadl asy $. Gl sona uBuwn
4y gl 9 il NHyefl ay luw sud 9. s 5 yriowdl ulsami Alugell dlazivami g2l as 9.

R0 (AlRsy ay) SRzl #UR 0 20 52 Agan RRARS R 200 dly, GRAML 20d AR Aglad
amazal Guz sl R udl Al sren 3 a ulbust waal sl wifis sonsdi S8 s sl -2l el
dglad mazen Guz 516 % A 53 asdl Al

AU gllol ABcA 1 AP* Bg‘ 8 4l Riqua glaeicll dedl giidl S (Ridlaa RalaA) 8. a1 uskol
2iRell qRIdl Via glldl RSk dRl AciEl dradl.

MEUGIA, AR, MM Yol
A" BI™ 2t vedld gt S mol L7155,
AT Bl = XAy + VBl
AB, Ayl S Hld R M0 AR x M APT A Y dla BT Geuet a9,
LAl s (K ) = [AP (BT
= [x S]¥ [y S)Y

i s

AG ¥ia Q dRall 2cia e2uld)l. €35 ueoll v M d2ll cildell AdIAcll YdIGE M.
(@ () var Q <K &a c—r uza ywil i 2 e 210 ad & ?
(ii) saR Q = K 2Rkl IR 2u #i2 Awuil (net) ulsa adl oeil ?

(b) eonviclt ddRicil AR UlSAScl erisn (Reactant Quotient (Q)oll 2icefli wcdl.



ulan : CO(g) + 3H2(g) = CH4(g) + HZO(g)
mw AG WA Q AL doin <A yae sulwl 9

AG = AG® +RT In Q

AG = Ysaulsaui sz (MG 200 9b )

AGE = uHilad Ysa Gled

Q = ulw suasa

R = iy 2A3ais

T = [A398 damdd (K)

(a) AG®=RT In K

AG=RT In K+ RT In Q

_ Q
AG =-RT In X

- -

w9 Q< K dld dl AGH e () oA 9 24 ulEal yiondl Bauui »use af ¢,
m % Q=K AG = 0 ay.

oulEuL dglad viae euld 9 A daedl detssidl uEu adl el
i (b) CO(g) + 3H2(g] = CH4(g) + H,0

K, = [CH,[H,0]
[CO] [H,)*

®

> SR AMIRAL SEMI U2l M 9. o ol 6L otAl AMIRL SRAUML WU dl SEHL BLMIBY B2l WY 8, Uig,
el Alsdlil 6l AR a4kl Y 9.
_ 2[CH,] 2(H,0]
2|CO] [2H,

. QC

_ 11CH,l [H,0] 1

4|CO|H,* 4

el Q< K. 2l Q atdld aeel qud . el ddadt yealta wy i ulEa yaoudl Rausi 2usio
A,

K,



